CREDITOS: XXXXXXXXXXXXXXX

norys,  VIVIR-SUoKY

Fill in the missing conjugations so that all rows and
columns contain the six conjugation of “vivir” in the present.
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vivo vivis viven vivimos
viven vivis vive
vive vivo vives viven vivimos
vive
vivis vivo viven
vivis vives

OAIA USAIA SIAIA SOWIAIA SAIA SIAIA [ SOAIA OAIA UDAIA SIAIA SOWIAIA SAIA [ SAIA SSAIA OAIA
UDAIA SIAIA SOWIAIA [ SIAIA SOWIAIA SAIA SSAIA OAIA USAIA [ SOWIAIA SAIA SDAIA OAIA USAIA SIAIA [ UBAIA SIAIA SOWIAIA DSAIA S3AIA OAIA
sejsandsay



